
PARTS LIST, STANDARD
POS LFG-40 DIN/ANSI LFG-65 DIN/ANSI

1 LFG-40 Unit LFG-65 Unit

2 LFG-40 Nozzle LFG-65 Nozzle

3 Flange, DN50 PN16 / 2” 150 lbs Flange, DN65 PN16 / 2½” 150 lbs

LFG 
INSTALLATION INSTRUCTION 

II-0008-LFG-EN

Revision: 21E20

Incendium AB                Telephone: +46 303 44 00 30                 E-mail: info@incendiumfire.com                 www.incendiumfire.com 

Assembled unit

PARTS LIST, INSTALLATION KIT
POS LFG-50 DIN/ANSI LFG-65 DIN*/ANSI

A Nut, 4x M16 ISO or 4x 5/8 UNC Nut, 8x M16 ISO or 4x 5/8 UNC

B Washer, 4x M16 ISO or 4x 5/8 UNC Washer, 8x M16 ISO or 4x 5/8 UNC

C Gasket DN50 Gasket DN65

D Bolt 4x M16x80 ISO or  4x 5/8x3 UNC Bolt, 8x M16x80 ISO or 4x 5/8x3 UNC

*DIN DN65 with stainless steel flange comes with 4x bolt connection instead of 8x

90°

90
°90°

90
°

Nozzle must be placed in 90˚ steps 
in relation to bars inside LFG Unit

Mounted horizontally or tilted 
downwards max. 90˚ 


